)P R R20245E P SR Bl bR

LA 4K T EWER it &g = vESi ] HEEIES 2 Mides | SidkE | BIRIES BEHR &t
100502 FEIRRER HhEImARER SARSAI | 1060024110020006 |  H/NRL, 153 79.34 65.17 TEAHAL b
100503 FREESEIE FESZRFR SARSA | 1060024110210575 |  #7IEA 173 83.75 70.71 TEAHAL b
100504 kil kil ZARZAMI | 1060024110210592 1| 226 68.17 71.75 IEEARY L2 AN
100506 FERRE FERRE FARZA | 1060024110090221 | XUHRSL 197 76.75 71.21 IEEARL L2 AN
100508 FESHRIZE FESHRIZE SARSAI | 1060024110060123 | SHEak#k 156 84.10 68.05 IEEARL L2 AN
100513 |REKEF (&: HEY. REXS) HELGFHIS ZARZEAL | 1060024110070171 =% 164 75.67 65.17 IEEARL L2 AN
100572 FEIGRZSZ FhZA ARSI | 1060024110220605 |  [HRELE 183 80.40 70.70 IEEARL L2 AN
105701 hERRS hERRS LAV | 1060024110130332 |  #EFERK 174 82.93 70.47 TEARAL JEECIN
105701 hERRS hERRS LA | 1060024110080207 |  FhHE— 175 82.17 70.25 IEEARY L2 AN
105701 hERRS hERRS L7 | 1060024110130343 Bl 178 80.93 70.13 IEEARY BBEh
105701 hERRS hERRS LA | 1060024110120312 | F/uE 171 83.20 70.10 TEARAL JEECIN
105701 hERRS hERRS LA | 1060024110100263 | MR 176 81.37 70.02 IEEARY BBEh
105701 hERRS hERRS LA | 1060024110100251 | [EEE 176 80.93 69.80 IEEARY L2 AN
105701 hERRS hERRS LA | 1060024110100270 |  EHE 172 79.27 68.30 IEEARY L2 AN
105701 FERRE FERRE L | 1060024110150397 | XUI5HE 174 74.57 66.29 EmREl JLEZIN
105703 hES{HREE hES{HREE LAV | 1060024110040085 | ZHRT 203 78.10 72.88 IEEARY L2
105704 RELRIS RELRIS L | 1060024110160443 R 174 69.00 63.50 EMREl JLEZIN
105705 FE) LRI FE) LRI LRI | 1060024110170467 | [FEEEE 214 74.67 73.00 IEEARY L2
105707 e = LA | 1060024110020030 | S50 203 80.27 73.97 IEEARY SLZ AN
105707 e = LA | 1060024110040063 L] 194 82.36 73.51 IEEARY SLZ AN
105708 |REREX (& HEY. SEFS) HEGFIS LA | 1060024110080193 |  SEHALT 173 74.33 66.00 TEAHAL JLECIN
105709 hFAELESIGR FAEZSARIE | B3I | 1060024110200562 | BRZESC 190 77.66 70.50 SEARY b
105709 hFAELESIGR FAEZSARIE | B3I | 1060024110170479 | Aides 164 78.10 66.38 SRR b
105709 FREESIRR FAELSHREE | BASAI | 1060024110190513 |  ZXRHRH: 167 75.80 65.73 EEE SE AN
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